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e Question No.1

Which of the following statements is/are correct about Unified District Information System for Education+

(UDISE+)?

I. UDISE+ is one of the largest Management Information Systems initiated by the Department of School Education

and Literacy, Ministry of Education, Government of India.
Il. The entire system is online and has been collecting data in real-time since 2014-15.

IIl. UDISE+ information is utilized for planning, optimizing resource allocation and implementing various education

related programs and assessing the progress.
Select the correct answer from the following:
Options:

1. Only Il and Il are correct
2.0nly I and Il are correct
3.0Only | is correct

4.0nly |l and Il are correct

5.

Answer : Only | is correct

e Question No. 2

Project Appraisal, Budgeting, Achievements and Data Handling System (PRABANDH) is under

Options:

1. Rashtriya Uchchatar Shiksha Abhiyan (RUBA)

2. Department of Higher Education, Ministry of Education, Gol
3. Samagra Shiksha

4. Ministry of Finance, Gol

5.
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Answer : Samagra Shiksha

¢ Question No. 3
Which of the following is a non-metal?
Options:

1. Sulphur
2. Calcium
3. Magnesium
4. Aluminium

5.

Answer : Sulphur

e Question No. 4

Consider the following statements:

I. As per the Constitution of India, the number of seats assigned to each of the States in the Rajya Sabha is the

same.

IIl. As per the Constitution of India, seats are allocated in the Rajya Sabha to both, States and the Union Territories.
Select the correct answer from the following:
Options:

1. Both I and Il are correct.
2. lis wrong, but Il is correct.
3. Neither I nor Il is correct.
4.1is correct, but Il is wrong.

5.

Answer : | is wrong, but Il is correct.
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e Question No. 5

In India, the judiciary has the power to strike down laws passed by the Parliament. Which of the following concepts

explains this power?
Options:

1. Doctrine of 'exception’

2. Appellate Judicial System
3. Judicial Activism

4. Judicial Review

5.

Answer : Judicial Review

e Question No. 6
Who among the following was posthumously awarded the Padma Vibhushan Award for 20237
Options:

1. Mulayam Singh Yadav
2. Bipin Rawat

3. Rahul Bajaj

4. S.P. Balasubrahmanyam

5.

Answer : Mulayam Singh Yadav

e Question No.7

According to the National Family Health Survey, which of the following health indicators has shown an increase, in

the survey results of 2019-21, compared to 2015-16, as per the Economic Survey of India 2022-23?
Options:

1. Children under 5 years who are underweight
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2. Children under 5 years who are stunted
3. Children under 5 years who are overweight
4. Under-five mortality rate

5.

Answer : Children under 5 years who are stunted

e Question No. 8

‘Harbour waves' are known as , in Japanese language.

Options:

1. Hurricane
2. Typhoon
3. Tsunami
4. Cyclone

5.

Answer : Tsunami

e Question No.9

Among the following Universities, which University won the highest number of gold medals in the Khelo India

University Games, held between May 25 to June 3, 2023 ?
Options:

1. Jain University, Karnataka

2. Guru Nanak Dev University, Amritsar
3. Punjabi University, Patiala

4. Punjab University, Chandigarh

5.

Answer : Punjabi University, Patiala
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e Question No.10

Among the following G20 countries, which is the highest performer in Climate Change Performance Index (CCPI)

2023?
Options:

1. South Korea
2. Russia
3.India

4. Canada

5.

Answer : India

e Question No. 1

A man drives 10 km in South direction from his office, then turns towards East and drives 4 km. From there, he turns

towards North and drives 7 km. How far and in which direction is he from his office?
Options:

1.5 km South-East
2.4 km South-West
3.5 km South-West
4.3 km South-East

5.

Answer : 5 km South-East

e Question No. 12

In the given figure, 12% are those girls who are students too, 14% are students who are dancers too and 16% girls
are those who are dancers too. 8% are the girls who are both students and dancers. What percentage are only girls,

only students and only dancers?
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Students

Dancers W Girls

Options:

1.72,74,70

2.80,78,76
3.64,74, 80
4. 64, 66, 62

5.

Answer : 64, 66, 62

e Question No. 13

Five friends A, B, C, D and E have different hobbies singing, dancing, painting, writing and sewing, but not in the
same order. 'A" and like neither singing nor dancing. 'B' and 'E' do not have the hobbies of painting and sewing.
Writing and sewing are not the hobbies of 'A".'D' and 'E' are not interested in dancing and sewing. 'D' does not like

singing. What is the hobby of 'C'?
Options:

1. Dancing
2. Writing
3. Sewing
4. Painting

5.

Answer : Sewing
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e Question No. 14

In the following question, a relationship between different elements is shown in the statements, followed by two

conclusions | and Il. Assuming the statements to be true, decide which of the conclusion(s) is/are definitely true.
Statements:

LMY

2.S>A=C=D=N

Conclusions:

.O=D

ILA>M

Options:

1. Both conclusions | and Il are true

2. Only conclusion Il is true

3. Either conclusion | or conclusion Il is true
4. Only conclusion | is true

52

Answer : Both conclusions | and Il are true

e Question No.15
If'O"is 'M's daughter; 'N'is 'O's brother; 'K is 'N's father and 'F' is 'K's mother, then how is F related to 'M™?
Options:

1. Mother-in-law
2. Sister

3. Sister-in-law
4. Mother

5.
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Answer : Mother-in-law

Question No. 16

Given below is a question followed by two statements numbered | and Il, each containing some information.

Decide which of the statement(s) is/are sufficient to answer the question.
What is the value of a?

Statements:

lL.2a+2b=4-2(a-b)

l.La+3b=2a-2

Options:

1. Both statements | and Il together are necessary to answer the question.

2. Statement Il alone is sufficient to answer the question, while statement | alone is not sufficient to answer
the question.

3. Either statement | alone or statement Il alone is sufficient to answer the question.

4. Statement | alone is sufficient to answer the question, while statement Il alone is not sufficient to answer
the question.

5.
Answer : Statement | alone is sufficient to answer the question, while statement Il alone is not sufficient to answer
the question.
Question No. 17

Given below is a question followed by two statements numbered | and Il, each containing some information.

Decide which of the statement(s) is/are sufficient to answer the question.
The sum of ages of A, B and C is 65 years. What is B's age?
Statements:

l. B is 15 years younger than A.
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IIl. Cis 40 years old.
Options:

1. Both statements | and Il together are necessary to answer the question.

2. Statement Il alone is sufficient to answer the question, while statement | alone is not sufficient to answer
the question.

3. Either statement | alone or statement Il alone is sufficient to answer the question.

4. Statement | alone is sufficient to answer the question, while statement Il alone is not sufficient to answer
the question.

5.

Answer : Both statements | and Il together are necessary to answer the question.

Question No. 18

In the question below is given a statement followed by two courses of action, numbered | and Il. It is assumed that
everything in the statement is true. Then decide which of two given courses of action logically follow(s) for

pursuing.

Statement:

Despite the RTE Act, many children are still deprived of education.
Courses of action:

I. Government should ensure the enforcement of RTE Act.

II. Parents of educationally deprived children should be punished.
Options:

1. Both I and Il follow for pursuing.

2. Only Il follows for pursuing.

3. Neither | nor Il follows for pursuing.
4. Only | follows for pursuing.

5.
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Answer : Both I and Il follow for pursuing.

Question No. 19

Two statements are given below and they are labelled as Assertion (A) and Reason (R).
Assertion (A):

Adrenaline hormones are also called emergency Hormones.

Reason (R):

Adrenaline increases metabolism of carbohydrates to provide instant energy.

Select the correct answer with the help of the code given below:

Options:

1. (A) is true, but (R) is false.

2.Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. (A) is false, but (R) is true.

4. Both (A) and (R) are true and (R) is the correct explanation of (A).

5.

Answer : Both (A) and (R) are true and (R) is the correct explanation of (A).

Question No. 20

In the following question, a relationship between different elements is shown in the statements followed by two

conclusions | and Il. Assuming the statements to be true, decide which of the conclusion(s) is/are definitely true.
Statements:

1.F=1=B=R

2.L

Conclusions:
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I L
Options:

1. Both conclusions | and Il are true

2. Only conclusion Il is true

3. Either conclusion | or conclusion Il is true
4. Only conclusion | is true

5.

Answer : Only conclusion Il is true

e Question No. 21

Sonali drove her son to his school towards South, which is 5 km away from her house. From school, she turned
westward towards the market, which is 8 km away from school. After the market she turned to her right and drove

1km more and then took a right turn again and covered 11 km to reach her office. In which direction is her office

from her house?
Options:

1. South-West
2. South-East
3. South-West
4. South-East

5.

Answer : South-East

e Question No. 22

Identify the diagram that best represents the relationship between mothers, women post-graduates.
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Options:

1. Option 1

2. Option 2
3. Option 3
4. Option 4

5.

Answer : Option 2

e Question No. 23
Select the term that replaces the question mark (?) and completes the given series.
A47U, B45R, E410, ?, Q27I, Z17F
Options:

1. J38E
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2. H35L
3.J35L

4. H38E

Answer : J35L

Question No. 24

Select the number that replaces the question mark (?) and completes the given series.
5,18, 39, 68, ?, 150

Options:

1. 115
2.105
3.120
4.101

5.

Answer : 105

Question No. 25

Eight birds P, Q, R, S, T, U, V and N are sitting in a row facing North."T' is fourth to the left of 'P". 'S is fourth to the
right of 'N'. 'R and 'U' are not sitting at the ends, but are neighbours of 'Q' and "T" respectively. 'N' is next to the left

of 'P'and 'P is the immediate neighbour of 'Q". Who is sitting on the extreme right?
Options:

1S

2.N
3.Q
4.V

5.
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Answer: S

Question No. 26

Four doctors N, M, Q and P and four nurses A, B, C and D are sitting around a circular table facing each other. No
two nurses or two doctors are sitting side by side. 'P', who is sitting between 'D' and 'C', is facing 'M".'A' is sitting

between 'M' and facing 'C'. 'B' is sitting to the right of 'Q' and third to the left of 'N. Who is sitting between 'A' and 'B'

?
Options:

1.Q
2.M
3.P
4.N

5.

Answer : M

Question No. 27
If A+ B means that 'Bis the wife of A',
A - B means that 'A is the mother of B/,
A x B means that 'A is the son of B,
then how is 'P' related to 'S' in the given expression ?
PxQ+R-S
Options:

1. Father
2. Brother
3. Cousin

4.Son
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Answer : Brother

Question No. 28

Two statements are given followed by two conclusions, numbered | and Il. Assuming that the information given in
the statements is true, even if it seems at variance with commonly known facts, decide which of the given

conclusions logically follow(s) from the statements.
Statements:

1. All teachers are good human beings.

2. All teachers are honest people.

Conclusions:

I. All honest people are teachers.

Il. Some good human beings are teachers.

Options:

1. Both conclusions | and |l follow.

2. Only conclusion Il follows.

3. Either conclusion | or conclusion Il follows.
4. Only conclusion | follows.

5.

Answer : Only conclusion Il follows.

Question No. 29

A combination of three fruits needs to be chosen. The fruits must be chosen from seven fruits — Banana, Apple,

Custard Apple, Gooseberry Pineapple, Plum and Mango on the following conditions:

(i) If Apple or Mango is chosen, the other one must also be chosen.



(i) Custard Apple and Pineapple cannot be chosen together.

(iii) Either Custard Apple or Mango or both must be chosen.

If Pineapple is chosen, which of the following other two fruits must also be chosen?

Options:

1. Mango and Gooseberry
2. Apple and Plum

3. Apple and Mango

4. Banana and Mango

5.

Answer : Mango and Gooseberry

Question No. 30

Two statements are given below and they are labelled as Assertion (A) and Reason (R).

Assertion (A):

Graphite is used in designing of carbon paper.

Reason (R):

Graphite is a good conductor of electricity.

Select the correct answer with the help of the code given below:

Options:

1. (A) is true, but (R) is false.

2. Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. (A) is false, but (R) is true.

4. Both (A) and (R) are true and (R) is correct explanation of (A).

5.

Answer : Both (A) and (R) are true and (R) is correct explanation of (A).

ixam
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e Question No. 31
Which of the following is not an example of a popular web browser?
Options:

1. Internet Explorer
2. Mozilla Firefox

3. Microsoft Access
4. Google Chrome

5.

Answer : Microsoft Access

e Question No. 32

The most popular combination of 'shortcut keys' to 'copy' some selected text and 'paste' the same at some other

location in most of the MS Windows applications is:
Options:

1. Ctrl + Cand Ctrl + V
2. Alt+Cand Alt +V
3.Ctrl + Vand Ctrl + C
4. Alt+VandAlt+C

5.

Answer : Ctrl + Cand Ctrl + V

e Question No. 33

Which of the following software is generally preferred most, to create a tabular sheet to store marks scored by 100

students of a boarding house in the last few examinations for some basic statistical and graphical analysis?
Options:

1. Adobe Premiere



2. Adobe Acrobat
3. MS PowerPoint
4. MS Excel

5.

Answer : MS Excel

e Question No. 34

Which of the following is one of the standard file extensions of an image file?

Options:

1..pdf
2..doc

3..wav

4.jpg
5.

Answer : jpg

e Question No. 35

Which of the following is a popular example of an Operating System?

Options:

1. MS Access

2. MS Word

3. MS Windows
4. MS Excel

5.

Answer : MS Windows

e Question No. 36

ixam
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In computer terminology, ROM stands for:
Options:

1. Random Optional Memory
2. Read Oriented Memory

3. Random Object Memory
4. Read Only Memory

5.

Answer : Read Only Memory

e Question No. 37

This is a type of malware that we download onto our smartphones, disguised as a legitimate and useful app, but

usually takes control of our smartphones to damage, steal or in general inflict some other harmful action on our

data security.
Options:

1. Adware
2. Trojan

3. Spyware
4. Spam

5.

Answer : Trojan

¢ Question No. 38
Which of the following is not an input device?
Options:

1. Plotter
2. Mike

3. Scanner
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4. Light Pen

5.

Answer : Plotter

e Question No. 39
Which of the following is not an example of a popular web-based search engine?
Options:

1. Yahoo
2. Access
3. Google
4. Bing

5.

Answer : Access

e Question No. 40
In computers, DVD stands for:
Options:

1. Digital Voice Disc

2. Digital Versatile Disc
3. Dual Versatile Disc
4. Dual Video Disc

5.

Answer : Digital Versatile Disc

e Question No. 41

Which of the following software is generally preferred most, to create an animated multimedia presentation on the

topic 'Health and Hygiene in a Boarding House'?
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Options:

1. MS PowerPoint
2. MS Excel

3. Adobe Acrobat
4. MS Access

5.

Answer : MS PowerPoint

e Question No. 42

Which of the following software is generally preferred most, to write a House Report to the Principal of the school,

with some basic text and paragraph formatting (bold, italics, underline, etc.)?
Options:

1. MS Access

2. MS Word

3. Adobe Premiere
4. Tally

D;

Answer : MS Word

e Question No. 43
What is a Router in a computer system?
Options:

1. A calculating device
2. An output device

3. A networking device
4. An input device

5.
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Answer : A networking device

e Question No. 44
Which of the following cannot be a valid Email ID?
Options:

1. An Email ID having multiple numbers (digits)

2. An Email ID having multiple _ (underscore)

3. An Email ID having multiple @ (at-the-rate sign)
4. An Email ID having multiple. (dots)

5.

Answer : An Email ID having multiple @ (at-the-rate sign)

e Question No. 45

Which of the following networks is generally formed in a computer lab, where multiple computers are connected

through a switch and wired cable to share some hardware resources like a printer?
Options:

1. LAN
2. MAN
3.PAN
4. WAN

5.

Answer : PAN

e Question No. 46
Which of the following is not an advantage of Cloud Computing?

Options:



1. Real-time accessibility from anywhere and everywhere
2. Improved collaboration by different contributors

3. Does not depend on Internet (or network) connectivity
4. Backup and restore data is easy

5.

Answer : Real-time accessibility from anywhere and everywhere

e Question No. 47

In modern day computer terminology, Al popularly stands for:
Options:

1. Artificial Intelligence

2. Absolute Intelligence

3. Augmented Intelligence
4. Abstract Intelligence

5.

Answer : Artificial Intelligence

e Question No. 48

Which of the following Acts provides initial legal framework for e-Governance in India?

Options:

1. Indian Penal Code

2. Governance Act

3.IT (Amendment) Act, 2008
4.1T Act, 2000

5.

Answer : IT Act, 2000

ixam
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e Question No. 49
Which of the following is not a popular example of an antivirus software brand?
Options:

1. McAfee

2. Norton

3. Kaspersky
4. Tally

5.

Answer : Tally

e Question No. 50

Which of the following is the correct ascending order of memory unit as per the storage capacity (smallest comes

first)?
Options:

1. GB < MB < KB
2.KB<MB <GB
3.GB <KB <MB
4. MB <KB <GB

5.

Answer : GB &It; MB &lt; KB

e Question No. 51
Consider the following statements:

(A) The Child Labour (Prohibition and Regulation) Act, 1986 prohibits the engagement of children only in certain

employments.

(B) An occupation connected with automobile workshop and garages is prohibited for children under the Act.



0D
ixam Pees @

Choose the correct answer from the codes given below:
Options:

1. Both (A) and (B) are correct

2. (A) is wrong, but (B) is correct
3. Neither (A) nor (B) is correct
4. (A) is correct, but (B) is wrong

5.

Answer : Both (A) and (B) are correct

e Question No. 52
Under The Protection of Children from Sexual Offences (POCSO) Rules, 2020, who is a 'special educator'?
Options:

1. A person trained in communication with children with disabilities

2. The liaison officer in the special court for trials under the POCSO Act
3. The person assigned by the Child Welfare Committee

4. A special trainee on sex education

5.

Answer : A special trainee on sex education

e Question No. 53

Identify the incorrect statement with regard to The Protection of Children from Sexual Offences (POCSO) Act,
2012,

Options:

1. The definition of sexual offence in POCSO Act is not limited to penetrative sexual assault. #
2. POCSO Act provides every child, the right to be heard.
3. POCSO Act is a special law.

4. POCSO Act is not gender neutral.
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Answer : POCSO Act is not gender neutral.

Question No. 54
Consider the following statements:
(A) The Criminal Law (Amendment) Act, 2013 made amendments to the Indian Penal Code.

(B) It amended the offence of "Trafficking of Person to mean that trafficking with the consent of the victim will not

be considered an offence.
Choose the correct answer from the codes given below:
Options:

1. Both (A) and (B) are correct

2. (A) is wrong, but (B) is correct
3. Neither (A), nor (B) is correct
4. (A) is correct, but (B) is wrong

5.

Answer : (A) is correct, but (B) is wrong

Question No. 55

The Commissions for Protection of Child Rights Act, 2005 provides for the constitution of which of the following?
(A) National Commission for Protection of Child Rights

(B) State Commission for Protection of Child Rights

(C) District Commission for Protection of Child Rights

(D) Children's Courts

Choose the correct answer from the codes given below:
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Options:

1. (A), (B) and (C) only
2. (A) and (B) only
3.(A), (B) and (D) only
4. (A) and (C) only

5.

Answer : (A), (B) and (D) only

e Question No. 56

The National Charter for Children, 2003 was announced in accordance with the pledge in which of the following?
Options:

1. Samagra Shiksha Abhiyan

2. Sustainable Development Goals
3. Teach India Mission

4. National Agenda of Governance

5.

Answer : National Agenda of Governance

e Question No. 57

The mortality rate in India in 2020 was the highest for which of the following indicators, as per the Economic

Survey of India, 2022-23?
Options:

1. Mortality Rate under 5 Years
2. Neonatal Mortality Rate

3. Early Neonatal Mortality Rate
4. Infant Mortality Rate

5.
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Answer : Mortality Rate under 5 Years

e Question No. 58
According to the National Family Health Survey (2019-21) in India, what was the sex ratio at birth?
Options:

1.935
2.931
3.940
4.927

5.

Answer : 935

e Question No. 59

Which of the following statements is correct regarding The Right of Children to Free and Compulsory Education

Act, 2009?

(A) The law provides for free and compulsory education for elementary and secondary stage.
(B) Elementary education is defined in the Act as education for class 1to class 6.

(C) The age group covered by this Act is between 6 to 14 years.

Choose the correct answer from the codes given below:

Options:

1. (A) and (B) only
2. (A) and (C) only
3.(C) only
4. (A) only

5.

Answer : (C) only
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e Question No. 60

By whom can a petition for annulling a child marriage be filed in the District Court under The Prohibition of Child

Marriage Act, 2006?
Options:

1. By any socially conscious individual who has information about a contract being a child marriage
2. By either of the contracting party to the marriage, who was a child at the time of marriage

3. By the Station House Officer (SHO) of the jurisdiction where the child marriage was solemnized
4. Only by the minor woman who is a contracting party to the marriage

5.

Answer : By either of the contracting party to the marriage, who was a child at the time of marriage

e Question No. 61
Which one of the following is the main objective of Hostels?
Options:

1. To give relief to parents

2. To take care of weaker sections

3. To promote education

4.To provide students a peaceful and congenial environment to pursue their studies

5.

Answer : To provide students a peaceful and congenial environment to pursue their studies

e Question No. 62
How can one improve Hostel Administration?
Options:

1. By effective supervision

2. By regular feedback from Hostel students and involving them in decision-making



3. By discipline committees
4. By providing adequate funds
5.

Answer : By regular feedback from Hostel students and involving them in decision-making

e Question No. 63
What is the advantage of Hostel life?
Options:

1. Socialisation and independent behaviour
2. It is Government policy matter

3. Lack of privacy

4. It provides freedom to students

5.

Answer : Socialisation and independent behaviour

e Question No. 64
What safety measures are to be adopted in a Girls Hostel?
Options:

1. Closure of gates

2. Provision of Lady Warden along with strict vigilance
3. Regular counselling for girl students

4. Discipline Committee

5.

Answer : Provision of Lady Warden along with strict vigilance

e Question No. 65

In case of short-circuit in a Hostel in emergency conditions, the Warden:

ixam
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Options:

1. Has to wait for approval from higher authority

2. Can only call an empanelled electrician,

3. Will abscond from the scene

4. Can even call a private electrician to rectify the problem on priority

5.

Answer : Can even call a private electrician to rectify the problem on priority

e Question No. 66

What should the modern Hostel room be like?

Options:

1. Should be equipped with LAN hygiene
2. Good furniture

3. Good ventilation

4. Regular cleaning

5.

Answer : Should be equipped with LAN hygiene

e Question No. 67

What is the main objective of Hostel Mess?

Options:

1. Cleanliness

2. To provide hygienic and balanced diet to the students
3. Well furnished

4. To utilise mess funds properly

5.

Answer : To provide hygienic and balanced diet to the students



e Question No. 68
Name the 'document' normally used for guiding overall cleanliness in the Hostel.
Options:

1. Mess Guide

2. Mess Committee Rule Book
3. Sanitary Guide

4. Hostel Rule Book

5.

Answer : Hostel Rule Book

e Question No. 69

Which one of the following is a part of Hostel room inventory?

Options:
1. Wi-Fi control
2. Ceiling fan

3. Library books
4, CCTV camera

5.

Answer : Ceiling fan

e Question No. 70

The role of Mess Committee in the Hostel is:

Options:

1. overall supervision
2. to conduct regular meetings

3. to maintain discipline in Hostel

ixam
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4. to provide hygienic and cost-effective diet

5.

Answer : to provide hygienic and cost-effective diet

e Question No. 71
Who is incharge of general upkeep and sanitation of Hostels?
Options:

1. Executive Committee
2. Hostel Warden

3. Discipline Committee
4. Mess Committee

5.

Answer : Hostel Warden

e Question No. 72
General Financial Rules (GFR) deals with:
Options:

1. Procurement of items from approved dealers
2. Mess rules

3. Sanitation in the Hostel

4. Cultural programmes in the Hostel

5.

Answer : Procurement of items from approved dealers

e Question No. 73

Who should be the Warden for Girls' Hostel ?



Options:

1. Both male and female

2. Female only

3. Male only

4. At the discretion of competent authority

5.

Answer : Female only

e Question No. 74

What is the purpose of 'Inventory Management' in the Hostel?

Options:

1. Administrative purpose

2. Budget preparation

3. To prevent loss and theft.
4. Audit requirement

5.

Answer : To prevent loss and theft.

e Question No. 75

Which one of the following purchases should be avoided in a Hostel?

Options:

1. Purchase from approved dealers
2. GFR provisions

3. Purchase from approved budget
4. Piecemeal purchased

5.

Answer : Piecemeal purchased
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e Question No.76

Who is an incharge of a Hostel?

Options:

1. Hostel Supervisor
2. Vice-Chancellor
3. Mess Secretary
4. Warden

5.

Answer : Warden

e Question No. 77

Which one of the following is the most essential in Hostel life?

Options:

1. The administration should provide a non-threatening and conducive environment
2. Good quality food

3. Providing Wi-Fi in every room

4. Providing good library in the Hostel

5.

Answer : The administration should provide a non-threatening and conducive environment

e Question No.78

How can one address teenage problems in Hostels?

Options:

1. Regular counselling by professional experts
2. By expelling them from the Hostel

3. Give full freedom
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4. Through strict discipline

5.

Answer : Regular counselling by professional experts

e Question No. 79
What could be a common problem in Hostels?
Options:

1. Lack of library books
2. Boring life

3. Poor maintenance
4. Lack of supervision

5.

Answer : Poor maintenance

e Question No. 80
Hostel management does not include:
Options:

1. Lack of library books
2. Boring life

3. Poor maintenance
4. Lack of supervision

5.

Answer : Boring life

e Question No. 81

Who is authorised to receive stock in Hostel Mess?
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Options:

1. Mess Manager

2. Student incharge
3. Warden

4. Principal

5.

Answer : Mess Manager

e Question No. 82
Which one of the following is a ‘consumable’ item in Hostel management?
Options:

1. Ceiling fan

2. Cooking gas
3. Notice Board
4. Furniture

5.

Answer : Cooking gas

e Question No. 83
What should be the criteria for Hostel admission?
Options:

1. As per approved Hostel admission guideline
2. By date of birth of student

3. Only outstation students

4. By lottery system

5.

Answer : As per approved Hostel admission guideline



e Question No. 84

In case the Hosteler is seriously ill, the duty of the Warden is:

Options:

1. To wait for permission from the competent authority

2. Informing his/her parents

3. To ignore the issue

4. To shift the Hosteler immediately to the nearest Hospital

5.

Answer : To shift the Hosteler immediately to the nearest Hospital

e Question No. 85

What type of stock registers are normally maintained in the Hostels?

Options:

1. Asset Register

2. Tree Register

3. Cash Book

4. Consumable and non-consumable

5.

Answer : Consumable and non-consumable

e Question No. 86

Who fixes the food menu in the Hostel?

Options:

1. Mess Committee
2. Mess Secretary

3. Warden
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4, Student leader

5.

Answer : Mess Committee

e Question No. 87

Which one of the following is a 'non-consumable' item in the Hostel?
Options:

1. Oil

2. Refrigerator
3. Wheat flour
4. Gas

5.

Answer : Refrigerator

e Question No. 88

How can one handle a large number of students in Hostel admissions?
Options:

1. Hostel Committee, at its discretion
2. By charging excess Hostel fees
3. By allotting only a particular category of students

4. By restricting the number of students based on merit

5.

Answer : By allotting only a particular category of students

e Question No. 89

How can one handle indiscipline among Hostel students?
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Options:

1. Regular interaction with parents

2. Effective supervision

3. Regular counselling by professional experts
4. Enforcement of strict discipline

5.

Answer : Effective supervision

e Question No. 90
Who monitors the attendance of housekeeping staff in the Hostel?
Options:

1. Principal

2. Student incharge
3. Assistant Warden
4. Mess Committee

5.
Answer : Assistant Warden

Direction:

AR A St & afdfel BRI H 51T 3HdYRd GZTdl &bl €, 38 Silad 3R 57Td &1 HagU dgd BB WRIcRdld &1 7T | A9 Bt
HAHd HTER[BAT3 - HISH , TR 3R 31TaTH A A 39 3IqaPIid Td RGN afbr & afHfd duddl # aiiid &
§Gd TRUT BT THABR TAR GRATS US I&T 81 a1 b GaRT WWedd ePTS, &dTs STET 3R Ade 3 Ay bt 7af ol 37erfd
dteR B AT 81 &7 HiERAT B HIEHA A AIST T Bdel STl - A d ATBIRI T IfeRUT & 38T 8 dRA TRl Pt IRAdTBN0T Abdf
B RFE B AT TS W H R Ta gaT Bl

e Question No. 91

TIDRAT Bl Ted RGBT & :
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Options:

1. B IHR

2. Bda 2AfdsT

3. HI5H, 9y 3R 3ma
4. Bact HIsTH

5.

Answer : M5, IHaR 3R 3marE

Direction:

afsEI A Sfted & afafe B! # 571 3n{dyRd YTdl &bl & , 38 Silad 3R 577d BT HaU dgd B8 WiRdld &1 1T | A{Sd Bl
HeTd TAREBATHT - HISH , THAR 3R 37TATH § AR 38 3@l Td RedPTid afdrd & aifT eyt A af>Bid &
§&d TRUT BT THABR TR SATS US 8T &1 af37H B GaRT Redd el , TS ST R Adbe 4 79d & 71af &l 3refds
diteR B GRIT 81 &7 HiERAl B HIE[IH A AN 7 bdcl 5Tcl - e d TBIRM | IIRUT & 8T & TR eRdll Pt IRAdThNUT Abdl
B RIEF P! dATe/dmr Teeid W HH R T gl &l

e Question No. 92

AT TIcRelId R R BYD BRUT I bl & ?

Options:

1. AfSET AR Radd AreAt
2. Adec Bt maf

3. 37RAfds goTaf

4. gAGIIH &bt T1af

5.

Answer : df531H GaRT [Redd dTeHAT

Direction:

afsEI A Sfted & afafe el # 57 3n{dyRd UTdl &b & , 389 Silad 3R 577d &1 JaU dgd BB WicRdld &1 T1-T | A{Sd bl
HeTHd ATIRABATHT - HIST , TR 3R AT F A 38D 3ieTie e WRied P afbrd & afvfiT eyl # afsizi &
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T&d TRUT Bl JHAPR AR GRATE TS 38T 8| I B GaRT WRedd ISl , §dTE STET51 3R IAdbe A AST & 71af bl 31efd
R B fAT 81 &7 AiERAT B HIEIA A AN T Badl ST - S d ATBIRM 7 IfeRUT &3 38T 8 dRA BRdl Pt IRAATBIN0T Abdf
B RFE B AT TS TR H R Ta gabT Bl

e Question No. 93
HIYI Bt 7Taf Bl 3eifds dfR dR Gl e

Options:

1. Bad Ade A

2. BT TS 815 A

3. 3AEL, FTETeT 3R Ade A
4. DI IGPME A

5.

Answer : JeTTIaY, STET5] 3R JTdbe 4

e Question No. 94
AfFATRafd # A B - AT GIH FHTA & ?
Options:

2. HSTER - Ga-gd T
3. 37THRUT - AT THT
4. PBTAT UTHT - BIAERY THT

5.

Answer : HSTER - qd-qd HH

e Question No. 95
AferRafa # @ q@sH Fuf aretr 2ree 78t 2 -

Options:



0D
ixam Pees @

1. aPfter
2.gfprs
3.315d

4. HAHATT

Answer : HTHd™

e Question No. 96
AfrAeRafd & & Fef 1RrHt & 3o{eied ol guef d 3R TG & -
Options:

1. 3RGdBd
2. 3qurd

3. 7-gfal
4. 3ATYBR

5.

Answer : 3ATEBR

e Question No. 97
' STl TR THE BISHAT ' HETdR BT AClh 3R € :
Options:

1. Gl qFBAl Bl AR gEt BT
2. 9gd gl BT
3. 9gd RS BT

4. BT B Ig BT YA
5,

Answer : Xt G df Pl 3R gt AT
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e Question No. 98
' TG} TR ATEAT ' HETaR T TEl 3R 2
Options:

1. BT P Hebd W ARAT
2. Bt & SR R e
3. ! §T1d AT

4. 3709 SR W AT

5.

Answer : BT B 2R W IHT

e Question No. 99
AfrAeRafd afeimRef 2reg - ZoHT A 3rTd 2
Options:

1. 3177 - ARATG
2.3Md - af¥

3. 37eT1Y - EREmg
4.319d - 3¢9

5.

Answer : 3T7Td - TRATA

e Question No. 100
AfAaRafa & & a8 & RIgar T8 8 :
Options:

1. HRAT
2. bidl
3. HHAff



4. gafar

Answer : HROT

Question No. 101

Choose the word nearest in meaning to the given word.

Intercede

Options:

1. Reconcile
2. Negotiate
3. Infiltrate
4. Intervene

5.

Answer : Intervene

Question No. 102

Choose the word opposite in meaning to the given word.

Frail

Options:

1. Strong
2. Lanky
3. Stalwart
4. Plump

5.

Answer : Strong
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e Question No.103

Identify the correct form of the Tense in the given sentence.

Why didn't you meet me in the office yesterday?

Options:

1. Past Perfect Tense

2. Past Continuous Tense

3. Past Perfect Continuous Tense
4. Simple Past Tense

5.

Answer : Simple Past Tense

e Question No. 104
Fill in the blank with the correct preposition.
The group of actorsdrove ___

Options:

1. through
2.in
3.over

4. at

Answer : through

e Question No. 105

Choose the correct meaning of the bold idiom.

The speaker broke down in the middle of his speech.

the forest at high speed.
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Options:

1. looked at the audience
2. broke the mike

3. failed to speak

4. stopped midway

5.

Answer : stopped midway

e Question No. 106

Change the given sentence from Active Voice to Passive Voice.

The batsman hit the ball for a six.

Options:

1. The ball was hit for a six by the batsman.
2. The ball had been hit for a six by the batsman.
3. For a six the ball was hit by the batsman.
4. The ball was being hit for a six by the batsman.

5.

Answer : The ball was hit for a six by the batsman.

e Question No. 107

In the following sentence, identify the part which contains an error.

The wayfarer/ enquired from me / where /1 lived

Options:

1c

2.b
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3.d

Answer : d

e Question No.108

Choose the correct Article.

honest politician is a rarity these days.

Options:

1A

2. An
3. Any
4.The

5.

Answer : An

e Question No.109

Choose the correct form of the verb to go with the subject.

On the day of the departure, every one of the boat's crew

Options:

1. will be

2. was

3. has been
4. were

5.

Answer : was

down with fever.
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e Question No. 110
Rearrange the parts in correct order to make a meaningful sentence.
A. to the nearby jungle
B. I saw a young shepherd
C.in the early dawn
D. herding the cattle
Options:

1.D,CB A
2.A,B,C,D
3.CB,D A
4.B,A,CD

5.
Answer:B, A, C,D

Direction:

AR A St & afdfel BT # 51T 3MdYRd YAl &bl €, 38 Silad 3R 57Td &1 HagU dgd BB WRicRdld &1 73T | A5 Bt
HAHd HTER[GBAT3 - HISH , TR 3R 31TaTH A A 396 IgaPIid Td RGN afbr & afHfd duadl # aipid &
§Gd TRUT Bl THABR TAR GRATS US I&T 81 a1 b GRT Wedd ePTS, &dTs STET 3R Ade 7 Ay bt 7af &l 37erfd
dteR B fAT 81 &7 AiERAT B HIEHH A AN T Bdel STl - A  ATBIRI T IfeRUT & I8T 8 dRA BRdl Bt IRAdTBIN0T Abdf
B RFE B AT TS W H R Ta gaT Bl

e Question No. 111
JIddf Bt Hed ATIRR[BATE & :

Options:

1. I IR
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2. B ST
3. HI5H, TR 3R 3T
4. BIA HISH

5.
Answer : HI5H, THaR 3R 3TaE

Direction:

afEIA A Sitad & afafe BT # 51T 3n{dqRd YTdl &bl & , 389 Silad 3R 57Td &1 HaU dgd BB WicRdld &1 T1-T | A8 Bl
HeHd ATIRABATT - HIST , TR 3R 3T F A 30 3eaie v wRieanie afdr & afifid syl # afszi &
T&d TRUT Bl JHAPR TAR GRATE TS 38T 8| I B GaRT WRedd JPTs! , §dTE STET51 3R Idbe A AT & 7Tdf bl 31ufdh
dieR &R ST 81 & HeRAT B HIEHH § A9 7 dad STd - 2l d 37BIRI A JfcRUT B 8T 8 R ERdt bl IFAdThuT Adbdl
B RIEf P! dATed: geeid W H R 7T IhT &l

Question No. 112

HYT TGl IR IR Bfid BRUT G Pl & ?

Options:

1. I3 GaRT WX ad aremt
2.3(dc ®f Taf

3. 3R qTdf

4. TR &t T1af

5.
Answer : 5[5 GaRT UXGdd ATeAT

Direction:

afEIA A Sftad & afdfe BRI # 51t 3n{dqRd YTdl &bl & , 38 Silad 3R 57Td &1 HaU dgd BB WicRdld &1 TR-T | A9 bl
Hed TaRABAT3T - HIST , TR 3R 3T F A 30 3eaie v WRieanie afdr & afifid syl # afsei &
§&d TRUT BT THABR TR SATS US 8T &1 af>{7H & GaRT Redd TS, &S STETsT R e 4 79d & 7Taf ! 3refds
R B AT 81 &7 AIERAT B HIEIA A AN T Badl STd - S d ATBIRM H IfeRUT & I8T 8 dRA BRdl Pt IRAATBIN0T Abdf
B RFE B AR TS TR H R T T Bl



e Question No. 113
HS B! 77df & 31 dfeR R Gl e :
Options:

1. Pad Jdbe A

2. Bl TS S8l A

3. 3TTET, STETsT 3R JAdbe A
4. B P A

5.

Answer : 3eTET, ST8T5] 3R b A

e Question No. 114
AfARafd 7 A B - ATGPHAFTAE ?
Options:

2. HETUR - GarGd GH™
3. 31THROT - {qGAHTT THTT
4. BT UTHT - BIHURY THH

5.

Answer : aRITIRIYE - TARY THRT

e Question No. 115

AftAaRafd & J Gz duf arer 2€E T8 €

Options:

1. aPTter
2.efprs

3.315d

ixam

0(6



4, FAHATY

5.

Answer : drfter

e Question No. 116

AfieTRafa & @ ef AT B 3e(eier Pt guef d 3[GH AeE € :

Options:

1. 3RgHA
2. 3quTd

3. F-gafaf
4. 3ATEfBR

5.

Answer : 3G hd

e Question No. 117

'S} R THP BISHAT ' HETaR &bl Hld 3R 2 -
Options:

1. gt qIhaf Bl AR gEft BT
2. 9gd gt AT
3. 9gd RIS AT

4. B PY Igd THAT UgIAT
5.

Answer : Gt gddf & 3R gt BT

e Question No. 118

' 37Tef} TR ATEAT ' HETaR T TEl 3R 2 :
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Options:

1. PRt P Hebd W AT
2. Bt B SR R T
3. P! &1 AHAAT

4. 3709 8RR W AT

5.

Answer : 3799 3R TR I

e Question No. 119

AfrAaRafd afeimref e - Pt A 3Td @

Options:

1. 31774 - ARATE
2. 3194 - afg

3. 37Ty - <REyg
4. 3194 - 3¢9

5.

Answer : 3Td - af9f

e Question No.120
FfrerRafa # @ gadt &1 Rargart 98t 2
Options:

1. HRAT
2. Bidl
3. BAfAT
4. gAfar
5.

Answer : HROT
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